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SA SEA

o
HE: sAESY

o
[

e AsXNIAL (e H)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
o 8,540
01 AP 22| d| 12,200 16,800 AN 4,600
OZHIBEXZAY 12,200
—HHALE W= 500,000& x15H 7,500
= 2,250
= 5,250
—uWEEE L AFESE 72 900,000 *x14] 900
=2 270
= 630
— XA X} 800,000 =1CH 800
- 240
= 560
— WSO ME 30,000& 1008 3,000
=2 900
= 2,100
301 et A= 12,800 1,200 11,600
= 3,840
= 8,960
09 #HAIAHI BAZ 800 1,200 A 400
OZHIEBEZANY 800
—HsHGEAHS NF S HAIEFA Ba23
8,000 x50 23| 800
- 240
= 560
12 JIEtE2 A= 12,000 0 12,000
O2HIBEXZAY 12,000
—HA=sHIESHS e 2dAIS
600,000 »20H 12,000
= 3,600
= 8,400
HsQol A MEI A 275,000 0 275,000
201 gEt24A Y| 20,000 0 20,000
01 AP 22| d| 20,000 0 20,000
OHAsHE MAE £ 222 HE
20,000,000 x 1Al 20,000
207 A0 | 20,000 0 20,000
02 & A EHH| 20,000 0 20,000
OH=sHE 2 GAHA AMAE 25
20,000,000 x 1Al 20,000
402 SI2VXHE20| & 235,000 0 235,000
01 BIZtXI =AY B X (KM ) 235,000 0 235,000
OAsd=s™ =X (13 AH)
4,000,000 x40 160,000
OA=sE=sH =X (28 AH)
1,000,000 x50H 50,000
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2AH: sS4
B JsAERY
Sl S XA (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Od+ Ase s3=sX EHl X
5,000,000& x5H 25,000
HE2AHH (sS4t 132,296 116,267 16,029
Jl=&l 132,296 116,267 16,029
Jl234 132,296 116,267 16,029
201 2et24d] 82,736 66,867 15,869
01 At 2teltl 52,452 51,587 865
ORNEA 1,831,000& 20H 36,620
Ogrx2gd2(sIa8d 3HY)
60,0003 x 1 140 8,400
O=gtl 8,000 x20Y x25 4,000
OZ A=A Xt 286,000 x1CH+12& 3,432
02 =224l 30,284 15,280 15,004
OxgmA2el 26,000
= 4,000,000 =4CH 16,000
—U=x2s8 5,000,000% »2CH 10,000
OXgEE= 3,024
— A" 450,000 »4CH 1,800
—U=s8s8 612,000& »2H 1,224
O Xt = XHAl 1,260
—283s 40,0003 =4H 160
- =858 550,000& *2H 1,100
202 O4dl 40,800 40,800 0
01 =S LHAYI 40,800 40,800 0
O2tLH o HI 120,000 20H 122 28,800
O&2 o dl 75,0003 x20H «8L 12,000
203 YR =&l 8,760 8,600 160
01 J122L =4 4,500 4,200 300
OJI228 g2l 4,500,000& 4,500
02 It =2 660 800 A 140
OFSE-) Fogee B P | 33,000& »x20H 660
04 RENSELR=LH| 3,600 3,600 0
OFRN2IYS =2 300,000& »12& 3,600
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